Chavez:

Utilicemos como base el modelo que mandaste, pero pensémoslo un poco más.

Creo que debemos empezar por suponer que en un período t determinado la firma decide cuánto reportar y cuanto emitir en t y en t+1. (Esto es lo mismo que veníamos haciendo hasta ahora, estoy cambiando los períodos 1 y 2 por t y t+1). 

Suponemos que las firmas tienen un horizonte temporal de 1 período por alguna de las razones que esgrimían nuestros profesores Bowles y Gintis sobre la racionalidad limitada y esas vainas. (En todo caso después podemos poner más períodos a ver como cambia la cosa).

Abstrayéndome del período uno, el primero, en donde la firma no tiene información de reportes pasados (luego podemos lidiar con esto) la función objetivo de la firma sería, siguiendo tu notación:
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Llamo 
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 a la esperanza de la firma i sobre el valor del reporte de las demás. 
Mi idea de cómo modelar la esperanza es hacerla lo más sencilla posible. Pero el tema es que cuando uno empieza a pensar esto la cosa se complica un poco. 

Empecé pensando en hacerlo tipo expectativas adaptativas, pero en este caso termina todo dependiendo de la esperanza en el período cero, para lo que podemos decir poco (o no quiero decir mucho). Por otra parte, me parece que la firma puede usar más información para generar o adaptar sus expectativas, sin complicar mucho el modelo. Aunque esto requiere un par de definiciones o de modelaje en sí mismo ya que, por lo que veo hasta el momento, es “todo endógeno”. Me explico: Para hacerlo sencillo, y en concordancia con nuestro supuesto anterior de horizonte temporal corto, supongamos que:
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Creo que convendría empezar por suponer que la firma sigue una regla de ajuste sencilla de sus creencias sobre lo que reportan las demás. Es decir, 
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a el Equation [3] suggests that each firm’s choice of emissions in period 1 is a function of the initial level of the tax, plus the (discounted) marginal effect of the firm’s choice of reported emissions on the tax bill in period 2.  It also follows that individual choice of emissions in period 1 is not independent of the reported level of emissions.

We recall that even though ( (0) = 0, and 
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, from which equation [3] clearly suggests that the tax adjustment rule motivate each firms to increase the emissions choice in period 1 as compared to any fixed tax for period 2.

Dynamic

-Two firms and two periods.  Abatement cost is given by c(eit, (i)) i =1,2; t = 1, 2

-Regulator sets the initial tax (for period 1) as (1
-The tax in period 2 is set by the following rule: 
[image: image9.wmf])

(

,

1

2

D

with

b

t

t

t

t

=

D

D

+

=


Note; 
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 is the change in the level of the emissions tax, β(.) is a function such that ( (0) = 0, D = R1  ( E0  = r11 + r21 ( E0  ( and 
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.  The marginal adjustment in the level of the emissions tax can be increasing, decreasing, or constant in the absolute value of D. 
-Enforcement.  The regulator inspects the firms with probability [image: image16.png]


to observe eit, the actual level of emissions. If eit > rit, it fines the firm with f(eit – rit).  Penalty is uniformly applied among firms and across time.  Monitoring is uniform among firms and over time (which not need to be the case, in fact if monitoring is tied to the tax level, it might change over time depending upon tax adjustment).

-In period one each firm chooses eit and rit., considering as given uniform enforcement effort and the tax adjustment rule.  Enforcement is insufficient to induce compliance such that  eit ( rit > 0. 

-The discount factor is (=1/(1+d), where d is the discount rate.

In period one each firm chooses the level of emissions for each period eit  and the level of emissions to report in each period, rit to minimize
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FOCs are given by:

ei1 :  
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[1-a]

ei2 :  
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[1-b]

ri1 :  
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[1-c]

ri2 :  
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[1-d]

. 

By using [1-b] and [1-d] we obtain 
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[2]

which suggest that the firms’ choices of emissions in period 2 depends on the level of the tax in that period.

Combining [1-a] and [1-c] gives as a result,
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[3]

Equation [3] suggests that each firm’s choice of emissions in period 1 is a function of the initial level of the tax, plus the (discounted) marginal effect of the firm’s choice of reported emissions on the tax bill in period 2.  It also follows that individual choice of emissions in period 1 is not independent of the reported level of emissions.

We recall that even though ( (0) = 0, and 
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, from which equation [3] clearly suggests that the tax adjustment rule motivate each firms to increase the emissions choice in period 1 as compared to any fixed tax for period 2.

Marcelo: Recuerdo ahora que discutimos en el pasado sobre trayectorias de impustos, incluso las dibujamos.  No encuentro archivos con esa discusión.  ¿Crees que pueder ser útil?.
Para donde vamos desde aquí?
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